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7. Acircle has a diameter of 12 cm.

Disgram NOT
accurately drawn

2em

‘Work out the circumference of the circle.
Give your answer correct to 3 significant figures.

(Total 2 marks)

8. The cquaton
P 10r=25
has  soluton between 1 2nd 2
Use il and improvement method to find this solution.

Give your answer correct to one decimal place.
‘You must show all your working.

(Total 4 marks)
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1.

Disgram NOT

accurately drawn
B c

ABCis an isosceles triangle.

AB=AC.

() Explain why 3x - 10= x+30

[0}

® Solve  3x-10= x+30
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9. Work out £84 as a percentage of £350

(Total 2 marks)
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14. The table gives information about the number of CDs sold in a shop during cach of the
Iast 30 weeks.

Number of CDs () | Frequency
0<n<d0 3
w<n<s0 5
80<n< 120 12
120 <n < 160 7
160 <n < 200 3

Calculste an estimate for the mean number of CDs sold cach weck.
Give your answer correct to 1 decimal place.

15 -4<n<1
nis an intoger.

() Write down all the possible values of n.

(®) Solve 3x-2>x+7
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. Here s a lst of ingredients for making a rifle for 4 people.

Trifle for 4 people

1205 of raspbery elly
8 spongefingers

420ml of ustard

180g  oftinned fit

Rob is going to make a trifle for 6 people.
‘Work out the amount of each ingredient he needs.

& of aspbery elly
. sponge fingers
-l of custard

g of tinned fruit

(Total 3 marks)
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2. Mr Wither sells umbrellas.

‘The scatter graph shows some information about the number of umbrelas he sold and the
rainfal, incm, cach month last year.

10
4 s 6 7 8 9 10
Rainfall in cm
In January of this year, the rainfall was 6.1 cm.
‘During January, Mr Wither sold 32 umbrellas.

(&) Show this information on the scatier graph.

o)

(b) What type of corrlation does this scatter graph show?

In February of this year, Mr Wither sold 40 umbrellas.

(©) Estimate the rainfall for February.
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3. In August 2008, Eddic hired a car n ltaly.

‘The cost of hiring the car was £620
‘The exchange rate was £1= €1.25

() Work out the cost of hiring the car in curos (€).

®
Eddic bought some perfume i sy

‘The cost of the perfume in Italy was €50
‘The cost of the same perfume in London was £42

‘The exchange rate was still £1 = €1.25
() Work out the difference between the cost of the perfume in lily and the cost of the

‘perfume in London.
Give your answer in pounds (£).

)
(Total 5 marks)
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4. (&) Complete the table of values fory = 3x +4

2

0

10

@
(6) On the grid,draw the graph of y= 3x + 4
7h
10
9
s
7
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5
4
3
2
1
E) 0 x
=
=
-
@

(Total 4 marks)
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68
c & D

ANB is paralle to CMD.
LNM s a straight line.
Angle LMD = 68°

(@) Work out the size of the angle marked y.

(i) Give reasons for your answer.

Disgram NOT
accurately drawn

(Total 3 marks)

2
154245

‘Write down all the figures on your calculator display.
You must give your answer as a decimal,

6. (®) Use your calculstor to work out

(b) Write your answer to part (s) correct to 2 decimal places.

@)
(Total 3 marks)





